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HPPE(VLP)$SOmmBtKERRT HEFTES

AR g 0.70m S

B iR
T £ & 2 Hr 4 # B _Z
KEEKER EFZOMES L
HH WYIFLUE ¢ 50 X 5,000 x 5.000 X
JKEEKE A TL—VIVREE
FYIFLVE ¢ 50 x 5,000 PN HPPE ¢ 5051 & & &Y = ]
HIFLVER w2 I 0280 x 1 = 0280
EFfZF-A @75% ¢ 50 @ ML X 1 =
RYIFLUER L
FCDRZI77vY 650 & 1 0160 x 1 = 0.160
Sus 7.5k
RILk-Fwbk 650 £ 1 1
L
SEER RS AU S 650 = 1 0.180 x 1 = 0.180
KEEKER
BESA= SRS ¢ 50 X 4,000 x 1 VLP ¢ 508 & & &Y = 1660 YIERA
EBESA=USMER
IR 50 & 3
EBESA=USMER
i 50 & 1
FCD75UY (A2)LA) 50 & 1
RFH R4k 50 & 1
Sus 7.5k
RILE-F vk @50 £ 1
RLKHFE H=0.70
T AsE CR15  ¢250 #® 1 1 = 1
250
HEEFALY VR IR A H=100 & 1 1 = 1
250
HEEFALY VR IR L& H=150 & 1 1 = 1
250
HEEFALY VR IR E& (M) H=40 | {&@ 1 1 = 1
EEER  HPPE = 0620
VLP = 1.660
HPPE To#
BHIZBHER)—T ¢ 50/ m 04 0620 — 0.180 = 0440
HPPE To# HH%E
BHART—7 W=50 m 04 0620 — 0.180 = 0440 bz
ThE 2fE HPPE HE# HEIHE
EBHRY - W=150 m 04 0620 — 0.180 = 0440 bz
VLP TEY%E I EYE
BOART—7 W=50 m 0.9 1660 — 0.730 = 0930 bz
ThE 2fE VLP IEYE M EYE
EHRHRY - W=150 m 0.9 1660 — 0730 = 0930 bz
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EfE- O HPPE ¢ 50mm  fE%IER :L=0.620m VLP ¢ 50mm %R :L=1.660m(1.160m)

fax et £ #Y:0.70m NO, 2
BEHIRA
TiE £ BRTZE Hit % & =
FE [FERT]
FhE To#
FYIFLYERATT 50 m 04 0620 — 0.180 0.440
(10#F) FCDAZI70Y
EFf$FT ¢ 50 [m] 1 1 1
FCDA &77v%" FCDI5VY
IV BFELT $50 (7.5K) [m] 2 1 + 1 2
HEMERT ¢ 50 m 1.7 1.66 1.660
O#F)
MERLAAEST 50 AT 7 7 7
MERQLYYT 50 n 6 6 6
VLPYIE R
SHE LI T 50 ] 3 3 VLP @ 5081 & & &Y 3
SIS ST RS
EOFEET @50 E- 1 1 1
250
HUHASSEAT CH15 2+’ AT 1
T @250
LY URYIRRIT T FREH H=100 & 1
T A ¢ 250
LY URYIRRIT T L F#B H=150 & 1
T ¢ 250
LY URYIRRIT T E&(MR2) H=40 | & 1
aVY)—hHEIFLT ¢ 64~77Tmm AT 1
HPPE
AERBE R —IHET ¢ 50 m 0.4 0.440 0.440
HPPE T %
BEHRT-7T W=50 m 0.4 0.440 0.440 fd
ThE 2fE HPPE Y%
BHRRY-PT W=150 m 0.4 0.440 0.440 fd
VLP T %
BEHRT-7T W=50 m 0.9 0.930 0.930 fd
ThE 2fE VLP HtYHE
BHRRY-PT W=150 m 0.9 0.930 0.930 fd
EKEERT BRER B A m 23 0.620 + 1660 2.280
[£1]
HPPE ¢ 50
B+ T@-3 HEEE) m 15 15 15
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fekEMERL (BBKES75mm) HEFHEE
E1E - O7%:PEP ¢ 20mm X 5& T, PEP ¢ 256mm X 3E T
R &M £ Y :0.60m NO. 3
EHRA
I £ & BHTE B % 8 1w %
H#
HPPE FA(#5 85 8) AR47’ cH47’ E#47° GH7’
Y IAF 5 KEE ¢ 75% 20 = 5 2 1 1 + 1 5
HPPE FA (8585 8) B447 D447 F447°
P75% P25 = 3 1 1 1 3
FCD#!
I8 VDS =ZREmE & 5 5 5
MR 450k
l1) 82 VDS ¢ 170 T-25 & 3 3 3
FE €FEomm|
HPPE A347 c447 E447 G447
PKRETAHT ¢ 75% ¢$20 El50 5 2 1 1 + 1 5
HPPE B447 D447’ Fa47
¢ 75%x ¢ 25 ERT 3 1 1 1 3
MI# AR47 cH47° E947° GH7° 1HRATEY
HHKEERT PE ¢ 20 5178 5 2 1 1 + 1 5 L=5.0m
MIH B447° D447’ F447° 1HRATEY
HHKEERT PE ¢ 25 5178 3 1 1 1 3 L=3.6m
(+T]
PEP ¢ 254 F
EEIET@-1 HEEHE) m 25.1 25.1 25.1
PEP ¢ 254 F
EHILT@-2 HEEHE) m 6.4 6.4 6.4
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PEP$SOmmiIREREMIRL HEHEE

ER &M £4Y:0.30~0.70m~FEH NO,
EHRA
TiE £ & BRT A S Z -4
K&
H# FUIFLVZBE 50 m 90.1
HPPEF
YR IAF 5 KEE ¢ 100 X ¢ 50 #® 2
EAIe
=7 50 & 2
ZENVF—X
FYIFLVE AT ¢ 50 % ¢ 20 & 5
ZEWNVF—X
RYIFLVE AR T $50% 25 A 3
90° I
RYIFLVE AR T ¢ 50 & 8
EIXOWIEI
FYIFLVE AT ¢ 50 & 4
EER  PEP®50 = 90.100
FE [#3%T)
HPPEF
RKRETAAT 100 X ¢ 50 (5178 2
FYIFLVERMT ¢ 50 m 90.1
e ES LS F-R 90° ILF
FYIFLVERAMFT ¢ 50 [m] 36 4+ +( 8 + 8 H)x 2 = 36
e
HMERCAAHMFT $50 A 4 4 - 4
vE
RYIFLEYIET ¢ 50 [m] 20 20 = 20
HYRFLYTH—L4 MIH
RELT ¢ 50F m 84.7 90.100 - 1.700 - 0400 - 0300 - 0.300
0400 - 0900 - 1.400 = 84.700
BRE% HPPE
RUIFLUEYRT ¢ 75 [m] 1 1 = 1
EKERERT BREE B MK m 90.1 90.100 = 90.100
(+T]
H=0.30m
TID-1 PEP ¢ 50 m 78 23 + 17+ 38 = 7.8
H=0.70m
+I@-2 PEP ¢ 50 m 0.6 03 + 03 = 0.6
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IREREPESSOMMBAET BEFTES

mEEE £HY 030~0.70m~ & H NO. 5
E LR
IiE £ BRTZE H#H7 Z B %
HE YA KIER SEER
kid 799 %97 ¢ 50 1 2 2 = 2
fé_?z‘?
FHE [(#BET)
FIIFLUEHRET @50 m 90.1 90.100 = 90.100
$vy7’
HMERLCIAABFET ¢ 50 [m} 2 2 = 2
e ERYhrob F-R 90° ILK
W)IFLUEMFIRNLT ¢ 50 [m] 36 4+ +( 8 4+ 8 )x 2 = 36
e
HERAHEERNLT ¢ 50 [m] 4 4 = 4
[£x]
RERE H=0.30m
BHELID-1 PEP ¢ 50 m 7.8 23 + 17+ 38 = 7.8
RERE H=0.70m
#HELID-2 PEP ¢ 50 m 0.6 03 + 03 = 0.6
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FYIFLVERBF ¢ 50 % ¢20 (5) 1 2 + 1 + 1
ZENF—X 2178 BATF
FYIFLVERBF $50% p25 (3) 2 1
FHE | [RHRHBKERAET]
PEP BLTA 247C S24TE 217G
FUIFLVEMTFT 20 5 1 2 + 1 + 1
PEP 2478 BATF
FUIFLVEMTFT b 25 3 2 1
BLTA 247C S24TE 217G
MERLAHMFT ¢ 20 5 1 2 + 1 + 1
2147B BALTF
MERLAHMFT $25 3 2 1
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PEP 2478 BATF
FUIFLVEMFERNALT 25 3 2 1
BLTA 247C S24TE 217G
HERLAHEFERIALT ¢ 20 5 1 2 + 1 + 1
2147B BALTF
ERCAAMFRNALT ¢ 25 3 2 1
[REE#AKERRT]
MIH 2L TA THE
{RERIAKEERT PEP ¢ 20 &1 1 1 L=13m
MIH 2478 THE
REEHAKEERT PEP ¢ 25 AT 2 2 L=14m
MIH 247C THE
{RERIAKEERT PEP ¢ 20 &1 2 2 L=08 m
MIH 24 TE THE
{RERIAKEERT PEP ¢ 20 &1 1 1 L=13m
MIH 2L TF THE
REEHEKEERT PEP ¢ 25 AT 1 1 L=13m
MIH 247G THE
RERIAKEERT PEP ¢ 20 & 1 1 L=1.5 m
[REEHEKERET]
BLTA 247C
REAGKERET PEP ¢ 20 5.7 13 18 + 08 x 2#mr
B24TE 214TG
1.3 18 + 15 x 1Hm 5.7
2147B BA4TF
REEHEKERET PEP ¢ 25 4.1 14 x 2@FF + 13 x 1@
4.1
9.8
[£x]
[7rE%]
H=0.30m
R ETG-1 PE 25T 35 35 35
[#=]
H=0.30m
IREEEEL TR PE ¢ 25LLF 35 35 35

62




1 SV
(g0 )8z 0 520 L0°0 BYE
cu 103 (SV)
(Lo 1o 110 €0°0 TYWTH
cu 103 (G8TF)
(9°0 )09 0 090 L1°0 TEWTH
u wog=3% EEEEE
(2 )Colz 0l2 09°0 uwg|s v HE F &
u wogl=3 ITHRAET
(2 )Colg 012 09°0 (0€-IWY)
u wop| =3 THRAE L
(2 )Colg 012 09°0 (0€-04)
cu EaEE THEMH
( )IC £ugz "0Hg
cu FYE TEHWH
(z0 )(8L0 810 500 gugz "0Hg
cu FTEH TEHWH
(1 )C09°0 090 L1°0 £u8z "0Hg
u T7W0 =1 THRIHE
(2 )Colz 0l2 09°0 gy
w A oG =3 THGRE
(L )C00°L 00°L 00°¢ A Fagsy
ERLEE £ E 5 [ 2
1FW=  G¢
1EmW-= L (62 @) 0C P dIdE Y H Y
S5 1-® G ON

63



L0°0

Ge'c X €00

TENULL YA

Py

€0°0

= 600

X 090 X 0071

TN ULL Y L P YIEY
LA T &

LT°0

=( 060

-+ 000 )— LT0

T [

(1 g

T Y
LA T &

09°0

09°0 X 0071

urg=7
(CA Y Tug TSV ISk b HI B0 15

09°0

= 090

X

00°T

wozr=1
(06-IND) T S /7

09°0

= 090

X

00°T

wo01=1
(06-00) T Z5 /|

00°0

T s
£uss OHd I iy

G0°0

= 10000 — 800

X 090

00°T

TYH] Pl
EwSE OHd T 24y

LT°0

=( 600 — €¢0 )X 090

00°T

T LT I -
£Wss OHG ‘I W

09°0

cur

= 090

00°T

AL 3TEOI =7 FYFEHESY
a7 2

00°¢

I
N

00°T

oA JTUEGT =T YYFEHSY
e/

Z Y

7 ¥

o

|7 A

o %

G5

X =  H B

ENERN

0g0°0

X 0600 = Hi 2

GFEEE = B ZEY

N 1768 P

BWHEY JAd T-©1F = GFEY

64



1 SV
(z0 )C8Lo 810 500 BYE
cu 103 (SV)
(Lo JCLoo L0°0 20°0 TYWTH
cu 103 (G8TF)
(¥°0 Cero 0 4N TEWTH
u wog=3% EEEEE
(2 )Colz 0l2 09°0 uwg|s v HE F &
u wogl=3 ITHRAET
(2 )Colg 012 09°0 (0€-IWY)
u wop| =3 THRAE L
(2 )Colg 012 09°0 (0€-04)
cu EaEE THEMH
(z0 )(8L0 810 500 £ugz "0Hg
cu FYE TEHWH
( )IC gugz "0Hg
cu FTEH TEHWH
(1 )C€90 €9°0 810 £u8z "0Hg
u T7W0 =1 THRIHE
(2 )Colz 0l2 09°0 gy
w A oG =3 THGRE
(L )C00°L 00°L 00°¢ A Fagsy
ERLEE £ E 5 [ 2
1FW=  G¢
1EmW-= Fu (62 ) 02 P dId-E Y HEEZ
S5 1-® L ON

65



G0°0 7 Ge'c X 200 P LL YL

Py

¢0°0 g = €00 X 090 X 0071 T Ly L YR
LA T &

210 [ =( 060 = S00 )— 8I0 A VI
e (151 LA TL %

09°0

N
g
Il

09°0 X 0071 wag=1
(CA Y Tug TSV ISk b HI B0 15

09°0 cu = 090 X 00T wagj=}
(06-INe) T Z5d /T

66

09°0 cu = 090 X 00T waQ =}
(08-04) T Z5d |

G600 ew = 800 X 090 X 00T T AU
£uss OHd I iy

00°0 g TYH] Pl
EwSE OHd T 24y

81°0 gw [= T000 —( €00 — €€0 )X 090 X 00T FE T B
WSS OHL T #fH

09°0 gu = 090 X 00T N JTUO] =1 NYFEHESY
WR: 2 2L

00°¢ w

I
[N
X

00T A JTUIG] =T NYFFHESY

e/
Z Y 7 % WA e o %

G5

z X X =  H B

ENERN

Z X 0§00 X 0800 =  Hif L

GFEEE = B ZEY

w cg =7 A JTGE P BV dAd -O©TF = HFEEL



7. BEEREC/AKEFRIEMET HEXR [oEEm]

67



BREOKERLBET HBHHES

T3 ¢ 75mm 1HE

R YT 10m~1.20m

E R
g & FERTZ Bl x £
[FELEEHET]
BEE% DIP
BUEHET @75 m 35.8 27100 + 8700 = 35.800
BEE%
HHEUIT @75 m] 1 35800 /  3.000 = 1
BEE% HPPE
FUIFLVERET ®75 m 2.3 2.300 = 2300
DIP ¢ 75 kg/m
s T DIP t 0.42 ( 35800 x 11.73 )/ 1000 = 0.420
HPPE ¢ 75 kg/m
ST HPPE t 001 ( 2300 x 217 )/ 1000 = 0.005
[#ELT])
H=0.70m
BELITD BEERE 0 75 m 8.7 8.700 = 8.700
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1. BE/KEHPPE ¢ 75mm  #EFR [ ZEBHK - #ilE]
(R {A1)



HPPE¢75SmmiEc’kETRRT HEBFHES

ek st T4 :0.70m NO.
EHIRA
TiE £ & FBHKTE B % &7 B =
JKEEKE A EFRONEE L
H# FYIFLVE ¢ 75 X 5,000 F:N 5 5000 X 5 = 25.000
JKEEKE A TJL—VIREE
FYIFLUE ¢ 75 x 5,000 x 3 HPPE ¢ 7581 E R &Y = 11.190| YIEHA
FYIFLUER L
EFF$45° A'UM ¢75 & 2 0.480 X 2 = 0.960
FYIFLUER L
EFf@IS45° A'UM ¢75 & 4 0.380 X 4 0.190 = 1330
FYIFLUER L
EF@=111/4° A'Ub ¢75 & 2 0.260 X 2 = 0520
PPaA bk ¢75 & 1 BESR B
BRELR HPPE = 39.000
T
BEIEBEHER)—T @758 m 39.0 39000 — = 39.000
T ERF SHAAR HYH%E
BERTRT—7 W=50 m 39.0 39000 — - = 39000 iR
TILE 2f& T ERF SHARR HYH%E
BRI+ W=150 m 39.0 39000 — - = 39000 iR




HPPE¢75SmmiEc’kETRERT HEBFHES

ek st £4#Y:0.70m NO. 1
EHIRA
I/ £ & FBHKTZE B % &7 m =
FE (B4 T)
R Tto#
FYIFLVERMAT @75 m 39.0 39.000 — = 39.000
(1 O##F) ZOEE  AAU WAV
EFf#fF T @75 [m] 19 5 + 2 + 6 X = 19
QOH#F)
EF#RF T ¢75 &R =
FYIFLUE PPY3{ub
MZhVRFT ¢75 [m] 2 1 x 2 = 2
HPPEY)E &
FYIFLEYIERT @75 [m] 6 6 = 6
EHIRENER Y —THET ¢75 m 39.0 39.000 = 39.000
THE
HERRT-T T W=50 m 39.0 39.000 = 39.000 =
TILE 2f% HYH%E
BRI W=150 m 39.0 39.000 = 39.000 =
EKEHAERT BEER EEAR m 39.0 39.000 = 39.000
(1]
HPPE ¢ 75
EHIE TO-1 HEGED m 39.0 39.0 = 390




HPPE ¢ 75mm{]) 3%

EiE-EE [HPPE 075 ER= 50 m/&X HPPE ¢ 75 ER= 50 m/K
No. | B&ig EE uE mARE o F RE [[No. iR EE uE mARE o F BRE
1 3260 + 0.620 1.120 1.120
2 0.330 + 2.360 2.310 2.310
3 2.380 + 2.240 0.380 0.380
v E RN
/Mt 11.190 m BB 6 0 3.810 m INEF B
&it 11.190 m BT 60 3.810 m
i =




No. 1 T -1
HPPE & 75mmip k & 752 9.0 =EmEEL
& i iR % E HEEE

AsERZE R 2.00 78.00 78.00 ) 78)
UM T t=15cmA T m

AsERZE R 0. 60 23.40 23.40) 23)
SRR T |t=10cmA T m2,

BHO. 28m3 0.44 17.16 17.16 ) 20)
HEARPRYE T Myt m3

BHO. 28m3 0.17 6. 63 6.63 ) 10)
HIERT BAL m3

BHO. 28m3 0.15 5.85 5.85) 10)
HIERT FHEL m3

(RC-30) 0. 60 23.40 23.40) 23)
TrERET t=10cm m2

(RM-30) 0. 60 23.40 23.40) 23)
LB T t=12cm m2

BAEFH As13mm 0. 60 23.40 23.40) 23)
ERE{RE IR t=3cm m2
RitunT 0.27 10. 53 10.53 ) 10)
(8 4tDT m3,
BRitunT 0.03 1.17 1.17) 1)
(AS) 41DT m3,
ZAE 0.07 2.73 2.73) 2.7)

TAI7VI5E




WA =  (@O-1 HPPE ¢75 L= 39.0 m

B =  Hl ()

R = 0090 X 009 X 1 / = 0.006
EEE = X X z / = 0.000
Im249

% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.79 — 0.05 )= m3 0.44
HH T BHO.28m3
LN TEA A 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
TR 14 0.44 —( 0.15 +— 0.90 )= m3 0.27
FEL A T ADT
FERA TAT7 IR 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




2. FKESTEX $20( b 25)mm  FEFR [KEBH - 6HiE]



fekEMERL (BBKES75mm) HEFHEE
SEFE - O % PEP ¢ 20mm X 6 FT, PEP ¢ 25mm X 21
R &M £ Y :0.60m NO, 2
EHRA
I £ & BHTE B % 8 1w %
H#
HPPE FA(#5 85 8) AS47
YT 5 kg @75 ¢ 20 #® 6 6 6
HPPE F(# 85 5Y) B447
d75% P25 = 2 2 2
FCD#!
LEJKAIER )R =ZREmE & 8 8 8
FE €FEomm|
HPPE AS47
PKRETAHT @75 ¢20 (5178 6 6 6
HPPE B447
¢ 75%x ¢ 25 ERT 2 2 2
MIf AS47 ERED
HHKEERT PE ¢ 20 5178 6 6 6 L=3.2m
MIH B447° 1HRATEY
HHKEERT PE ¢ 25 5178 2 2 2 L=3.2m
(+T]
PEP ¢ 254 F
EEIET@-1 HEEHE) m 23.2 23.2 232




TAITNb5R

No. 2 T @-1 T T T T T T +T
FAKE BT75x $20(525) nm# 2% 2.2 -EEL =R L =R L =R L SER L SHER L SER L =R L
& 7 i % B BHE

AsEZERR 2.00 46. 40 46.40 ) 46 )
SEYMT t=15cmA T m

AsEfZERR 0. 60 13.92 13.92) 14)
SRR T |t=10cmA T m2

BHO. 13m3 0.35 8.12 8.12) 10)
AR YE T MEt m3,

BHO. 13m3 0.14 3.25 3.25) 3)
HWHERT BAL m3,

BHO. 13m3 0.09 2.09 2.09) 2)
HWHERT FHEL m3,

(RC-30) 0. 60 13.92 13.92) 14)
TREET t=10cm m2

(RM-30) 0. 60 13.92 13.92) 14)
TERET t=12cm m2

BAEZH As13mm 0. 60 13.92 13.92) 14)
PR {1818 t=3cm m2
RitunT 0.25 5.80 5.80) 10)
(8 2tDT m3,
RitunT 0.03 0.70 0.70) 1)
(AS) 2tDT m3
ZAE 0.07 1.62 1.62) 1.6)




WS = (@-1 PEP $25 LT L= 232 m
Brigib B = BLE )
B = 0030 X 0030 X =z [/ = 0.001
AR = X X z / = 0.000
Im2%0

% 7 o & =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.13m3
- A B A 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
HIEE 1. BHO.13m3
B NG A A 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HIEE 1. BHO.13m3
B NG FEAE A 1.00 X 0.60 X 0.15 = m3 0.09
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL T 2tDT malt+  WHEt
FEAS 10 0.35 —( 0.09 = 0.90 )= m3 0.25
FEL A T 2tDT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




3. (RERBEC/KEPEP ¢ 40~ ¢ 26mmAnax s [fEBx - 4iE ]



PEP$40OmmiREREMIR L HEHEE

E S T #Y:0.30~0.70m

EHRA
I £ & BHTE B % & 1#
K&
## HYIFLVBE ¢ 40 m 67.0
HPPE
YR IAF 5 KEE @75 % ¢ 40 #® 2
EAIe
=7 b 40 & 2
ZENVF—X
RYIFLVE AR T ¢ 40X 20 A 7
ZEWNVF—X
RYIFLVE AR T b 40X 25 A 2
F—X
FYIFLVE AT G40 x ¢ 40 &
90° I
RYIFLVE AR T ¢ 40 & 6
FEDRE DI
FYIFLVE AT 40 & 4
ERvirvk
RYIFLVE AR T b 40X 25 A 2
EER  PEP¢40 = 67.000
FE [#3%T)
HPPE
NKEETAHT @75 ¢ 40 [El7i 2
RYIFLVERGT ¢ 40 m 67.0
e -5 AT F-R 90° I
FYIFLVERAMFT ¢ 40 [m] 36 4 + 2 +( 9 4+ 6 H)x 2 = 36
e
MERCAABFT @40 m] 4 4 = 4
vE
RYIFLEYIET ¢ 40 [m] 20 20 = 20
R YRFLYTH—L4 MIH
RET ¢ 40F m 62.9 35700 + 27.200 = 62.900
BEE%
RUIFLUEYRT G715 m] 2 2.0 = 2
EKERERT BREE B MK m 67.0 67.000 = 67.000
(+T]
H=0.30m
T I@-1 PEP ¢ 40 m 27 05 + 22 = 2.7
H=0.70m
+I@-2 PEP ¢ 40 m 0.6 03 + 03 = 0.6
H=0.30m
+I@-3 PEP ¢ 20 m 4.1 41 = 4.1




PEP$25mmIREREMIRL HEHEE

sk B NO.
EHRA
I £ & BHTE L4 & 7%
K&
H# FYIFLV_BE 25 m 1.2
$ALA
=7 ¢ 25 & 2
ERvirvk
RYIFLVE AR T $40x ¢ 25 & (2)
R VROVEPIN ¢ 25 & 4
MEER PEP¢25 = 1.200
FE [#3%T)
FYIFLVERMT ¢ 25 m 1.2
LSS Byt
FYIFLVERSTFT ¢ 25 a 6 4+ 2 = 6
LSS
SERLAHMFT $25 =] 4 4 = 4
vE
FYIFLUE YT 25 m} 4 4 A
R YRFLYTH—L4 MIH
RET ¢ 25 m 1.2 0.600 + 0.600 = 1.200
BKEHERT BRER B S m 1.2 1.200 = 1.200




- [ _&%E [ 07 GRE | 03  GEE
PE B 40mm~ @ 250 3R & #rak “EE L =EE L =EE L
2.7 sER L 0.6 “EE L 4.1 “ER L
£ o iR % B B
AsEhEERR )
SMEYMTT t=15cmA T m| 2.00 5.40 2.00 1.20 2.00 8.20 14. 80 15
AsthZE )
SRR T |t=10cmA T m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4. 44 4
BHO. 28m3 )
HEMERYE T Myt m3| 0.18 0.49 0.42 0.25 0.17 0.70 1.44 1
BHO. 28m3 )
HHIERT BAL m3| 0.06 0.16 0.15 0.09 0.05 0.21 0. 46 0.5
BHO. 28m3
HHIERT FHAET m3 0.15 0.09 0.09 0.1
(RC-30) )
TRERET t=10cm m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4. 44 4
(RW-30) )
LERET t=12cm m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4. 44 4
BAEEN Asl13mm )
ERE{REIR t=3cm m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4. 44 4
HBEiunT )
(8 41DT m3| 0.18 0.49 0.25 0.15 0.17 0.70 1.34 1
BEiunT )
(AS) 41DT m3| 0.03 0.08 0.03 0.02 0.03 0.12 0.22 0.2
ZAE
A S t 0.07 0.19 0.07 0.04 0.07 0.29 0.52 0.5




WrgIES = +TM-1 PEP (RERE ¢ 40 L= 2.7 m

B =  Hl ()

R = 0050 X 0050 X 1 / = 0.002
=R = X X / =
Im2%0

% 7 o & =
BT
AsBFIERK t=15cmlL 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- DB - - B - 1.00 X 0.60 X( 0.35 — 0.05 )= m3 0.18
HIEE T BHO.28m3
B NG A A 1.00 X 0.60 X 0.10 — 0.002 = m3 0.06
HIEE 1. BHO.28m3
B NG FEAE A 1.00 X 0.60 X 0.00 = m3 0.00
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
FEAZL 1% 0.18 —( 0.00 = 0.90 )= m3 0.18
FEL A T ADT
FEAS TAT7NIEE 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




WriisES = 4+ 10-2 PEP (RERE $40 L= 06 m

B =  Hl ()

BEHE S = 0050 X 0050 X x / 4 = 0.002
EEE = X X 7z J 4 =
Im2%0

% 7 o & =
EHIELI T
AsBFIERK t=15cmlL 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.75 — 0.05 )= m3 0.42
FAEE 1. BHO.28m3
LN JEA L 1.00 X 0.60 X 0.25 — 0.002 = m3 0.15
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
FiAA 1 0.42 —( 0.15 = 0.90 )= m3 0.25
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




WrigisE5S = 4+ 10-3 PEP RERE $20 L= 41 m
Brigib B = BLE )

R = 0030 X 0030 X 1 / = 0.00]
=R = X X / =
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.33 — 0.05 )= m3 0.17
FAEE 1. BHO.28m3
LN JEA L 1.00 X 0.60 X 0.08 — 0.001 = m3 0.05
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.00 = m3 0.00
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
HEAA - 0.17 —( 0.00 = 0.90 )= m3 0.17
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




4. {RERBC/KAEPEP ¢ 40~ ¢ 26mmifi = EE [ZEBEH - wHE]



REEEPEP$A4OMMBIETL HES5tEE
E1E-O01%:PEP ¢ 40mm %R : L=71.400m(70.300m)
max & £%Y:0.30~0.70m NO., 4
E LR
IiE £ BRTZE H#H7 Z B %
HE YA KIER SEER
## 799 %97’ b 40 1@ 2 2 = 2
=
FHE [(#BET)
FUIFLVEBEL 40 m 67.0 67.000 = 67.000
$vy7’
ERLAHMFT 40 a 2 2 = 2
e E#shyb F-R 90° ILK
RYIFLVEMFRIILT 40 [m] 36 4 2 +( 9 + 6 )x 2 = 36
e
SERLAHEFRILT @40 A 4 4 = 4
[£x]
RERE H=0.30m
BHELITO-1 PEP ¢ 40 m 2.7 05 2.2 = 2.7
RERE H=0.70m
#HELI2-2 PEP ¢ 40 m 0.6 0.3 0.3 = 0.6
RERE H=0.30m
#HELI2-3 PEP ¢ 20 m 4.1 4.1 = 4.1




REREPEPH22EMMBETL BEFHES

e SLa

NO, 4
E LR
IiE £ BRTZE H#H7 Z B %
EEE3
#H#
=
FHE (#=1)
FIIFLUEHRET 25 m 1.2 1.200 = 1.200
e Byt
FYIFL ERMFRSILT 25 =] 6 4+ 2 = 6
e
HERCAHMEERNLT 25 [m] 4 4 = 4




@-1 REEE @-2 REEE -2 REEE
PEP B 40~ & 25mmfk 3R B 2 SEE L SEE L SEE L
2.7 sER L 0.6 sER L 4.1 sER L
& i iR % E HEEE
AsthzE
UM T t=15cmA T m| 2.00 5.40 2.00 1.20 2.00 8.20 14. 80 15
AsEhZE R
SRR T |t=10cmA T m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4.44 4
BHO. 28m3
HEMERYE T MEt m3| 0.19 0.51 0.43 0. 26 0.18 0.74 1.51 2
BHO. 28m3
HIERT BAL m3
BHO. 28m3
HHIERT HEL m3| 0.06 0.16 0.30 0.18 0.05 0.21 0.55 1
(RC-30)
TRERET t=10cm m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4. 44 4
(RM-30)
LERET t=12cm m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4.44 4
BAEFH As13mm
ERE{REIR t=3cm m2| 0.60 1.62 0. 60 0. 36 0. 60 2.46 4. 44 4
RitunT
(8 41DT m3| 0.12 0.32 0.10 0. 06 0.12 0.49 0.87 1
RitunT
(AS) 41DT m3| 0.02 0. 05 0.02 0.01 0.02 0.08 0.14 0.1
2AE
A S t 0.05 0.14 0.05 0.03 0.05 0.21 0.38 0.4




prgEL = 0N PEP s 440 L= 27 m
Brigib B = BLE )
R = 0050 X 0050 X 1 / = 0.002
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
0T A BEE - 1.00 X 060 X( 0.35 — 0.03 )— 0.002 =| m3 0.19
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.10 = m3 0.06
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
HEAA - 0.19 —( 0.06 = 0.90 )= m3 0.12
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.03 = m3 0.02
AL
T X7 7/l 0.02 X 2.35 = t 0.05




WELT

WrgEE = "on  PEP REE 440 L= 0.6 m
Brigib B = BLE )
R = 0050 X 0050 X 1 / = 0.002
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.75 — 0.03 )— 0.002 =| m3 0.43
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.50 = m3 0.30
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
HEAA - 0.43 —( 0.30 = 0.90 )= m3 0.10
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.03 = m3 0.02
AL
T X7 7/l 0.02 X 2.35 = t 0.05




MELT

WS = 25 PEP REE 420 L= 4] m
Brigib B = BLE )
R = 0030 X 0030 X 1 / = 0.00]
B = X X z / —
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
0T A BEE - 1.00 X 0.60 X( 0.33 — 0.03 )— 0.001 =| m3 0.18
FAEE 1. BHO.28m3
LN JEA L m3 0.00
FAEZ 1. BHO.28m3
LN A 1.00 X 0.60 X 0.08 = m3 0.05
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
HEAA - 0.18 —( 0.05 = 0.90 )= m3 0.12
FEL A T ADT
FEA L TAT7 W EE 1.00 X 0.60 X 0.03 = m3 0.02
AL
T X7 7/l 0.02 X 2.35 = t 0.05




5. {ERF/KEPEP ¢ 20 ($ 25) Ak « il #HEFR [ZEEH - fiE]



PEP$20,625mmiRz2Ha7KEER « BIET HEFTES

HEEEHE B NO.
E LR
IiE £ BRTZE | # & B %
#H# [RE&R#AKE]
ZENF—X BATA 247C
FUIFLVERMTF ®40x 20 A (6) 5 + 1 = 6
ZENF—X 2478
FYIFLVERBF ®40x $25 & (2) 2 = 2

F#H | URSHKERTT)

PEP BALTA 247C
FUIFLVEMTFT 20 A 6 5 + 1 = 6
PEP 2478
FUIFLVEMTFT ¢ 25 [m} 2 2 = 2
BLTA 247G
MERLAHMFT 20 [m] 6 5 + 1 = 6
2147B
HERLAHMFT 25 m] 2 2 = 2
[RER#AKERET]
PEP BATA 247C
FUIFLVEMFERNALT 20 A 6 5 + 1 = 6
PEP 2478
FUIFLVEMFERNALT ¢ 25 [m} 2 2 = 2
BLTA 247G
ERCAAMFRNALT ¢ 20 [m] 6 5 + 1 = 6
2147B
ERCAAMFRNALT ¢ 25 [m] 2 2 = 2
[REEHEKEMEZT]
MIH BLTA EHE
RERIAKEERT PEP ¢ 20 (=17l 5 5 L=1.8 m
MIH 247B EHE
IRERIAKEERT PEP ¢ 25 [Elzil 2 2 L=10m
MIH 247C EHE
RERIAKEERT PEP ¢ 20 (=17l 1 1 L=0.6 m
[REEHEKERET]
BLTA 247C EHR
REEIEKERET PEP ¢ 20 m 9.6 18 x SHEFH + 06 x 1@ = 96| L=tém
5478 THE
RERHRKERET PEP ¢ 25 m 2.0 10 x 2 @#FF = 20| L=10m

#HWER L= 116




1. FC/KEHPPE ¢ 75mm &3 [AE Hm)



HPPE¢75SmmiEc’kETRRT HEBFHES

RS T4 :0.70~1.40m NO.
EHIRA
| T7# | - FBHKTE B % &7 e =
JKEEKE A EFRONEE L
H# FYIFLVE ¢ 75 X 5,000 F:N 3 5000 x 3 = 15.000
JKEEKE A TJL—VIREE
FYIFLUE ¢ 75 x 5,000 x 2 HPPE ¢ 7581 E R &Y = 8120 YIEHA
FYIFLUER L
EFF$45° A'UM ¢75 & 2 0.480 X 2 = 0.960
FYIFLUER L L
EFmI5245° A'UM @75 & 4 0380 X 4+ 0190 = 1710
FUIFLVER w2 x 1 =
EFf52F—-2 @75 % ¢ 50 & 1 0100 x 1 = 0.100
FUIFLVER
EFYfyb ¢75 & 1
PPU3A Uk @75 & 1
PEEL O{+EEsk s GF 7.5K L
IV ORTFE ¢75%x75 & 1 0710 X 1 = 0710
¢ 75 7.5K
ISV CHFER GF-RF3ERA R4 VN #8 1 1
Sus 7.5K
RILR-F b @75 #8 1 1
FCD&L—N" -3 RSVE A GF 7.5K
- BHIE S ¢ 75 x 150H £ 1 1
75K Z&Y
EEIERTSRTRS ¢ 25 #® 1 1
$ 500 H=0.70
ERFAGE AR3E ik | & 1 1 = 1
¢ 500
ERFALY VR YIR & H=200 & 1 1 = 1
¢ 500
ELRFALY UK YR &R H=100 E] 1 1 = 1
¢ 500
ELRFALY UK YR &8 H=200 E] 1 1 = 1
¢ 500
ERFAVY URYIA | EE (AR H=40 | & 1 1 = 1
BRELR HPPE = 26.600
T
BEIEBEHER)—T @758 m 26.6 26600 — = 26.600
T ERF SHAAR HYH%E
BERTRT—7 W=50 m 25.9 26600 — - 0710 — = 25890 R
TILE 2f& T ERF SHARR HYH%E
BRI+ W=150 m 25.9 26600 — — 0710 — = 25890 R




HPPES75mmEC’KERRT HEFES

ek £4%Y:0.70~1.40m NO. 1
EHRA
T £ Bk T A LI & B Z
FE [#B+T]
RbiE ToH
FYIFLVERAT ¢ 75 m 26.6 26.600 — = 26.600
(1O#%F) ZOEE RAUN AU
EFf¢F T ¢ 75 ] 13 3 + 2 + 4 x = 13
@O#%F) mF-2 Yiryb
EFftF T 75 [E:17i8 2 1 + 1 = 2
FYIFLVE PPy 3k
MZhVEF T ¢ 75 m] 2 1 X 2 = 2
HPPEYI &%
FYIFLVEYIER T ¢75 m] 6 6 = 6
TR
2% ¢ 75 [m] 1 1 = 1
TR
ERFHET 25 & 1 1 = 1
500
ERARAKERMGT M35 oy | &Rt 1
ZERFH ¢ 500
LY Uk R B T &8 H=200 & 1
ZERFH ¢ 500
LUk R IE A T FE8 H=100 & 1
ZERFH ¢ 500
LUk R IE A T T& H=200 & 1
ZERFH ¢ 500
LUk R IE A T EEB (M) H=40 | & 1
EHISENER—TREL 75 m 26.6 26.600 = 26.600
tUHE
ERRT-7T W=50 m 25.9 25.890 = 25890 bisl o3
T 21 tUHE
FHHRRY-FT W=150 m 25.9 25.890 = 25890 bisl o3
EKEERT BRER &g m 26.6 26.600 = 26.600
[+T1]
HPPE ¢ 75
I+ T D1 HE (M) m 19.9 19.9 = 199
HPPE ¢ 75
EEIETD-2 HiE(GE) m 3.1 3.1 = 31
HPPE ¢ 75
EEIETD-3 HiE(EE) m 3.0 3.0 = 30




HPPE ¢ 75mm{]) 3%

EiE-EE [HPPE 075 ER= 50 m/&X HPPE ¢ 75 ER= 50 m/K

No. | B&ig EE uE mARE o F BE [[No. | Big EE uE mARE o F BRE

1 3810 + 0.950 0.240 0.240

2 0940 + 0610 + 1.410 + 0.400 1.640 1.640
v E RN

Nt 8.120 m B 60 1.880 m Nt SRR
&it 8120 m BB 6 0 1.880 m

i =




No. 1 T -1 T -2 T -3
HPPE & 75mmii K & 5% 19.9 =EE L 3.1 =EEL 3.0 =HEEL
& i iR % E HEEE

AsERZE R 2.00 39. 80 2.00 6.20 2.00 6.00 (" 52.00)( 52)
UM T t=15cmA T m

AsERZE R 0.60 11.94 0. 60 1.86 0. 60 1.80 ( 15.60 ) ( 16 )
SRR T |t=10cmA T m2,

BHO. 28m3 0.44 8.76 0.53 1.64 0.86 2.58 ( 12.98)( 10)
HEARPRYE T Myt m3

BHO. 28m3 0.17 3.38 0.17 0.53 0.17 0.51 ( 4.42)|¢( 4)
HIERT BAL m3

BHO. 28m3 0.15 2.99 0.24 0.74 0.57 1.7 ( 5.44)¢( 10)
HIERT FHEL m3

(RC-30) 0. 60 11.94 0. 60 1.86 0. 60 1.80 ( 15.60 ) ( 16 )
TrERET t=10cm m2

(RM-30) 0. 60 11.94 0. 60 1.86 0. 60 1.80 ( 15.60 ) ( 16 )
LB T t=12cm m2

BAEFH As13mm 0. 60 11.94 0. 60 1.86 0. 60 1.80 ( 15.60 ) ( 16 )
ERE{RE IR t=3cm m2
RitunT 0.27 5.37 0.26 0.81 0.23 0.69 ( 6.87)¢( 10)
(8 4tDT m3,
BRitunT 0.03 0. 60 0.03 0.09 0.03 0.09 ( 0.78)¢( 1)
(AS) 41DT m3,
ZAE 0.07 1.39 0.07 0.22 0.07 0.21 ( 1.82)|( 1.8)

TAI7VI5E




WA =  (@O-1 HPPE ¢75 L= 19.9 m

B =  Hl ()

R = 0090 X 009 X 1 / = 0.006
EEE = X X z / = 0.000
Im249

% 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
70 DI A BEET - 1.00 X 0.60 X( 0.79 — 0.05 )= m3 0.44
HH T BHO.28m3
LN TEA A 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HH T BHO.28m3
LG T A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
TR 14 0.44 —( 0.15 +— 0.90 )= m3 0.27
FEL A T ADT
FERA TAT7 IR 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




Wiz s = (D-2 HPPE ¢75 L= 3.1 m

B =  Hl ()

B = 0090 X 009 X =z [/ = 0.006
AR = X X z / = 0.000
Im2%0

% B 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEHRER t=10cmEL T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
B E A B 1.00 X 0.60 X( 0.94 — 0.05 )= m3 0.53
HET. BHO.28m3
K NFEIE D HEA - 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
HET. BHO.28m3
K NFEIED TS A 1.00 X 0.60 X 0.40 = m3 0.24
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A T ADT malt+  WHEt
JEAZL 1% 0.53 —( 0.24 = 0.90 )= m3 0.26
FEL A T ADT
FERS TAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
AL

TA77 VR 0.03 X 2.35 = t 0.07




Wiz s = (D-3 HPPE ¢75 L= 3.0 m
Brigib B = BLE )
B 0.090 X 0090 X x [/ 4 = 0.006
R =
Im2%0

% 7 o & =
AR T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BT 1
AR t=10cmbl 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
P 1 B A 1.00 X 0.60 X( 1.49 — 0.06 ) =| m3 0.86
PR T BHO.28m3
SLNGED HEA A 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
PR T BHO.28m3
SNGEIED FEE A 1.00 X 0.60 X 0.95 = m3 0.57
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEAHZ T ADT IR
FHiAB 14 0.86 —( 0.57 = 0.90 )= m3 0.23
SRR T DT
FERS TA77/ i 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




2 . Bl/KEEHPPE (VLP) ¢ 50mm  F&3% [JkiE Hh]



HPPE(VLP) $50mmBEKERHRT HEFHES

k&M %Y :0.70m NO. 2
EHRA
TiE £ B TE s z H _Z
JKEEKER EFZOMES L
M FYIFLVE 50 X 5,000 x 5.000 =
JKEEKE R TL—VIREE
FYIFLVE ¢ 50 % 5,000 S HPPE ¢ 5041 & & &Y = Iz
FYIFLVER ik 0.280 1 = 0280
EFfZF-2" $75% ¢50 & ) 1 =
FYIFLUER L
FCDE 2770 ¢ 50 & 1 0.160 1 = 0.160
Sus 7.5k
RILk-Fwk ¢ 50 #H 1 1
L
Fi o535 AVR A nn) iy 50 ® 1 0.180 1 = 0.180
JKEEKE R
EESA=UT G ¢ 50 % 4,000 x 2 VLP ¢ 5081 & &Y = 4310 YIERA
BESA=VJMER
)Lk ¢ 50 & 4
BESA=VJMER
7359 ¢ 50 & 1
FCD770% (A2JL A) 50 & 1
RFA R4k 50 & 1
Sus 7.5k
RILk-Fwk ¢ 50 4 1
RLRAE H=0.70
TS AME Cis15 250 " 1 1 = 1
¢ 250
TUFALY VR YR FAEHR H=100 1& 1 1 = 1
¢ 250
TUFALY VR YR L TF#B H=150 1& 1 1 = 1
¢ 250
HTUHFRALY UE YA | ES (AR H=40 1A 1 1 = 1
EBEELER  HPPE = 0620
VLP = 4310
HPPE T
BEIRBEHER)—T ¢ 50F m 0.4 0620 — 0.180 = 0440
HPPE T HH%E
EHRT-7 W=50 m 0.4 0620 — 0.180 = 0440 R
TIE 2fE HPPE HH HYF%E
EHRY-H W=150 m 0.4 0620 — 0.180 = 0440 R
VLP I EYE ITEY%
EHRT-7 W=50 m 36 4310 — 0730 = 3580 B
TS 21 VLP FEYZE oA UES
EBHRY-H W=150 m 3.6 4310 —  0.730 = 3580 &R




HPPE(VLP)$SOmmBKERRT HEBFHES

&¥E- 0% HPPE ¢ 50mm &£ :1=0.620m VLP ¢ 50mm FisR3iEH :1=4.310m(3.810m)

SEHET YR 450 18

RS £#Y:0.70m NO, 2
EHIRA
I/ £ & FBHKTZE B % &7 m =
FE [(ET)
R Tto#
FYIFLVERMAT ¢ 50 m 0.4 0620 — 0.180 = 0440
(1A#F) FCO/ Z770Y
EF#F T @50 a 1 1 = 1
FCDK %75VY FCD730Y"
IV MFET $50 (7.5K) m] 2 1 + 1 = 2
SHEMRT ¢ 50 m 43 431 = 4310
QO#F)
MERCAAEST ¢ 50 ERT 9 9 = 9
MERLYYT ¢ 50 a 8 8 = 38
VLPYIE R
HHEYMT 50 a 4 4 VLP ¢ 5041 &R LY = 4
Sk BT iy
HUHHRET ¢ 50 = 1 1 = 1
¢ 250
U RAMKESRMAT ci1g x| & 1
U5 HA ¢ 250
LY Uk yIRR T SREEH: H=100 & 1
U5 HA ¢ 250
LY Uk RIRIT T & H=150 & 1
U5 HA ¢ 250
LY Uk RIRIT T JEEB(FfZ) H=40 | {& 1
a9 —REIFLT @ 64~77Tmm BT 1
HPPE
REIEBER ) —THET @50 m 04 0.440 = 0440
HPPE THE
HRRT-T T W=50 m 04 0.440 = 0440 =
ThE 2fE HPPE %
BRI W=150 m 04 0.440 = 0440 =
VLP THE
HERRT-T T W=50 m 36 3.580 = 3580 =
ThE 2fE VLP %
BRI W=150 m 36 3.580 = 3580 =
EKEHAERT BEER EEAR m 49 0620 + 4310 = 4930
(1]
HPPE ¢ 50
EEIE T4 HEGED m 42 06 + 36 = 42




VLP ¢ 50mmi) & &

TRE-ERE | VLP 050 ER= 40 m/K VLP ¢ 50 ER= 40 m/K

No. | BRiR g RARE Fila:! BE [[No. | B e RARE o F RE

1 0.750 + 2.830 + 0.230 0.190 0.190

2 0.500 3.500 3.500
v E RN

INEF 4.310 m] EYETEL 40 3.690 m INET E TR
&it 4310 m BB 40 3.690 m

i =




No. 2 T -4
HPPE (VLP) & 50mmZE K & 758 4.2 =EEL
& i iR % E HEEE

AsERZE R 2.00 8.40 40 )| ( 8)
UM T t=15cmA T m

AsERZE R 0. 60 2.52 2.52)( 3)
SRR T |t=10cmA T m2,

BHO. 28m3 0.43 1.81 1.81)|( 2)
HEARPRYE T Myt m3

BHO. 28m3 0.15 0.63 0.63)|( 1)
HIERT BAL m3

BHO. 28m3 0.15 0.63 0.63)|( 1)
HIERT FHEL m3

(RC-30) 0. 60 2.52 2.52)|( 3)
TrERET t=10cm m2

(RM-30) 0. 60 2.52 2.52)|( 3)
LB T t=12cm m2

BAEFH As13mm 0. 60 2.52 2.52)|( 3)
ERE{RE IR t=3cm m2
RitunT 0.26 1.09 1.09 )| ( 1)
(8 4tDT m3,
BRitunT 0.03 0.13 0.13)( 0.1)
(AS) 41DT m3,
ZAE 0.07 0.29 0.29)|( 0.3)

TAI7VI5E




HPPE

gk s = D-4 vie @50 L= 4.2 m
Brigrti B = HEH )

BErlE = 0060 X 0060 X 1 / = 0.003
EEE = X X z / = 0.000
Im249

%5 B 7 H = o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
LT, BHO.28m3
b A BEE - 1.00 X 0.60 X( 0.76 — 0.05 )= m3 0.43
HEET BHO.28m3
LGRS AL 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
P AT BHO.28m3
LN T A 1.00 X 0.60 X 0.25 = m3 0.15
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT eI+ WAL
FEAS 0.43 —( 0.15 + 0.90 )= m3 0.26
FEL AT DT
FEAL TRAT7 N 1.00 X 0.60 X 0.05 = m3 0.03
TN

TA77 VR 0.03 X 2.35 = t 0.07




3. WBAKE STEX ¢ 20mm  HEF [AE B



BKEMRLT (BAkEd75mm) HEHEE

R T48Y:0.60m NO. 3
EHRA
I £ & BHTE B % 8 B2
H#
HPPE (85855 AS47
YT 5 kg @75 ¢ 20 #® 1 1 = 1
FCD#!
LEJKIEHR )R ZREmE & 1 1 = 1
FE €FEomm|
HPPE AS47
RKRETAAT @75 ¢20 Bl 1 1 = 1
MI A347 1HRATEY
HHKEERT PE ¢ 20 5178 1 1 + = 1 L=2.7m
(1)
PEP ¢ 25LLF

EEIET@-1 HEGD m 27 2.7 = 27




No. 3 T @-1 T T T T T T +T
FEKE P75 x & 20mm 58 227 cEEL =R L =R L =R L SER L SHER L SER L =R L
& 7 i % B BHE

AsEZERR 2.00 5.40 5.40) 6)
SEYMT t=15cmA T m

AsEfZERR 0. 60 1.62 1.62) 2)
SRR T |t=10cmA T m2

BHO. 13m3 0.35 0.95 0.95) 1)
AR YE T MEt m3,

BHO. 13m3 0.14 0.38 0.38) 0.4)
HWHERT BAL m3,

BHO. 13m3 0.09 0.24 0.24) 0.2)
HWHERT FEL m3,

(RC-30) 0.60 1.62 1.62) 2)
TREET t=10cm m2

(RM-30) 0. 60 1.62 1.62) 2)
TERET t=12cm m2

BAEZH As13mm 0.60 1.62 1.62) 2)
PR {1818 t=3cm m2
RitunT 0.25 0.68 0.68 ) 1)
(8 2tDT m3,
RitunT 0.03 0.08 0.08) 0.1)
(AS) 2tDT m3
ZAE 0.07 0.19 0.19) 0.2)

TAITNb5R




WrigiES = @-1 PEP $25 LIF L= 27 m
Brigib B = BLE )
B = 0030 X 0030 X =z [/ = 0.001
AR = X X z / = 0.000
Im2%0

% 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.13m3
- A B A 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
HIEE 1. BHO.13m3
B NG A A 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HIEE 1. BHO.13m3
B NG FEAE A 1.00 X 0.60 X 0.15 = m3 0.09
TIESHE T (RC-530)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL T 2tDT malt+  WHEt
JEAZL 1% 0.35 —( 0.09 = 0.90 )= m3 0.25
FEL A T 2tDT
FEAZL TR 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA77 VR 0.03 X 2.35 = t 0.07




4. FERF/KEPEP ¢ 20mmARER « L HMEE



PEP$20mmiRks%iaKERR L HEFHES

FEBEH T THYTER NO. 6
E LR
TiE £ BRTZE | # & B %
#H# [RE&R#AKE]
ZENVF—X
FYIFLVERBF $40x ¢20 & (1) 1
FHE | [RHRHBKERAET]
PEP 247D
FUIFLVEMTFT ¢ 20 [m} 1 1
247D
HERLAHMFT 20 m] 1 1
[REEHKERET]
PEP 247D
FUIFLVEMFERNALT 20 [m} 1 1
247D
ERCAAMFRNALT ¢ 20 [m] 1 1
[REEHKERRT)
MIH 247D THE
RERARKEERT PEP ¢ 20 [Elzil 1 1 =220 m
[REEHEKERET]
247D
R HaKERET PEP ¢ 20 m 220 220 x 1 @R 22.0




5. BEEREC/AKEFRIERMET HEXR [EEm]



HSRBKERILIHAT HEHES

Bt &5E- 0% BEKEDIP ¢ 75mm:L=25.900m HPPE ¢ 75mm :L=2.400m

37 AUTELE M - 18 | : L=2.000+2.000=4.000m

MM T4Y:0.85m~1.20m NO, 7
E LR
TiE £ BRTE | # & B %
FHE [FELEEHET]
Bia DIP
BHSERET b75 m 25.9 25.900 = 25900
BRER
BBV T ¢ 75 [m} 8 25900 /  3.000 = 8
BEE% HPPE
FIIFLVEHRET ¢ 75 m 2.4 2.400 = 2400
DIP ¢ 75 ke/m
BN T DIP t 030 ( 25900 x 11.73 )/ 1000 = 0.304
HPPE®75  kg/m
BN T HPPE t 001 (2400 x 217 )/ 1000 = 0.005
[HELT]
H=1.20m
BELXITD BB D75 m 20.9 209 = 209
H=1.20m
BELXTQ BB D75 m 7.4 50 + 24 = 7.4
(FrEEmiEz-EIBT]
S AYRGLEHREE H=2.0mLLF m 4.0 2000 + 2.000 = 4.000
S AYRGLE RS IH H=2.0mLLF m 4.0 2000 + 2000 = 4.000




No. 7 NO.1T #EFTD| NO.2 HEFTQ
BRI EBUMET 20.9 =R L 1.4 =R L
& 7 i % B HEtHE

AsEZERR 2.00 14.80 14.80 ) 15)
SEYMT t=15cmA m

As&ZEhR 0. 60 4.44 4.44) 4)
SRR T |t=10cmA T m2

BHO. 28m3 0.77 16.09 0.74 5.48 21.57) 20)
AR YE T Myt m3,

BHO. 28m3 ) )
HWHERT BAL m3,

BHO. 28m3 0.77 16.09 0.62 4.59 20.68 ) 20)
HWHERT FEL m3,

(RC-30) 0. 60 4.44 4.44) 4)
TREET t=10cm m2

(RM-30) 0. 60 4.44 4.44) 4)
TERET t=12cm m2

BAEZH As13mm 0. 60 4.44 4.44) 4)
PR {1818 t=3cm m2
RitunT 0.05 0.37 0.37) 0.4)
(8 4tDT m3,
RitunT 0.03 0.22 0.22) 0.2)
(AS) 4tDT m3
ZAE 0.07 0.52 0.52) 0.5)

A S




Wrgi#s = WED FEIE 475  DIP 20.9 m
Brigib B = K
EHE = 0090 X 009 X x = 0.006
= HEfR = X X Vs =
Im249

%5 B 7 o & =
LI T
AsBFIERK t=15cmlL T 0.00 X 2 m 0.00
LR T
ASEEHEIR t=10cmbl F 0.00 X 0.60 m2 0.00
LT, BHO.28m3
b A BEE - 1.00 X 0.60 X( 1.29 — 0.00 )— 0.006 m3 0.77
HEET BHO.28m3
S NG A A m3 0.00
P AT BHO.28m3
LN T A 1.00 X 0.60 1.29 = m3 0.77
TIESHE T (RC-530)
t=10cm 0.00 X 0.60 m2 0.00
AR T (RM-30)
t=12cm 0.00 X 0.60 m2 0.00
W EE IH (A ERIAs13mm, A 7))
t=3cm 0.00 X 0.60 m2 0.00
FEL A5 T 4tDT eI+ WAL
AL | 0.77 —( 0.77 = 0.90 )= m3 0.00
FEL AT DT
FEAL TRAT7 N 0.00 X 0.60 0.00 = m3 0.00
AL
TR 7 0.00 X 2.35 m2 0.00




Wrigig s = MED FEIE $75 DIP-HPPE L= 7.4 m
Brigits B = BIHAS
R = 0090 X 009 X 1 / = 0.006
AR = X X z / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL 1.00 X 2 = m 2.00
DR AT T
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
B E A B 1.00 X 0.60 X( 1.29 — 0.05 )— 0.006 =| m3 0.74
HET. BHO.28m3
SLNGED HEA A m3 0.00
HET. BHO.28m3
K NFEIED TS A 1.00 X 0.60 X 1.04 = m3 0.62
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-50)
t=12cm 1.00 X 0.60 = m2 0.60
W EE IH (A ERIAs13mm, A 7))
t=3cm 1.00 X 0.60 = m2 0.60
FEL A5 T 4tDT el WAL
HEAA - 0.74 —( 0.62 = 0.90 )= m3 0.05
FEL A T ADT
FERS TAT7 W 1.00 X 0.60 X 0.05 = m3 0.03
AL
TR 7/ 0.03 X 235 = m2 0.07




6. MIAEIRL FHEXR [EHEMm]



HWEAEEH REHREE

e

RERL: As—5-10-10

ML t=5cm SEIRHEAE A= 75.00 it EIES
1 il # H Hoo® =R HLAL BEE €
AR NG U] (R A BER i s KR
T TAEFLY T TAEFLY TR LY T TAEREY T TR

A 4 1 t=5cm 75.00 of 75.00 75
A i 2 1 t=3cm £k 18.12 1.62 4.44
(Al 245 T P
AL I E Y t=3cm 18.12 1.62 4.44 mt 24.18 24
S T e T As t=15cm A T 21.80 m 21.80 22
BRI E Y t=5cm 75— 24.18 nf 50.82 51
A (& TY) t=2cm 24.18 X 0.02 m3 0.48 0.5
ANEREEIE MR HEL 75.00 ot 75.00 75
FE sy 24.18 X 0.02 m3 0.48 0.5
B A5y Asit 24.18X0.03+ 50.82%0.05 m3 3.27 3
PEBEALSY T. Asitk 3.27 X2.35 t 7.68 7.7




HET Hch N
1] " A1EIHt=bcm N
= MO T as 1 & & =
21. 80 75. 00

o

21. 80 75. 00




$=1/500

(SRR i - #1K)
REE PEPG40
L=36. Om (35. 7m)

L] @13 »

- [ J &
Eo | \ :

% €58 :
wde \ i

L
8. I \ £
L\ ; z ®
o O I
ity o symyrs F o g
st it 20 - % +
m‘ o1 BT T on on ; i - ;“j

N @13 o13

e oo ®
A aBS 1ol \
[ gte
28] ol (R - W (R -
g ] | (3R - 1),
BETYL /| Hmw Prod0 [maw PEPGS ‘
Pl i - 4o o =27 2m(27. 20/ 1=0.6m(0, 6m) = T =
o ! = e ——

#57KVU@200 H=1. 20m o
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